
08-06-2025

Dynamic 5th Wheel 

A new camber tube is needed if retrofitting to the Dynamic 5th Wheel. The Dynamic 5th wheel assemblies contain two of the camber

tube mounting clamp set screw, part number 105015. For a complete Dynamic 5th Wheel Assembly, select the Dynamic 5th Wheel

Clamp Assembly (502464) and the desired Dynamic 5th Wheel Assembly with Caster.
 

Item Number Part Number Description Quantity
9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23a, 24a,
25 - 28

107343 Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 18" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23a, 24a,
25 - 28

107343_ _ _ Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 18" Rear Wheels Anodized 1



08-06-2025

Item Number Part Number Description Quantity
9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23a, 24b,
25 - 28

107344 Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 20" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23a, 24b,
25 - 28

107344_ _ _ Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 20" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23a, 24c,
25 - 28

107345 Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23a, 24c,
25 - 28

107345_ _ _ Dynamic 5th Wheel Assembly w/ 3" Rollerblade
for 22" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23b, 24a,
25 - 28

107346 Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 18" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23b, 24a,
25 - 28

107346_ _ _ Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 18" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23b, 24b,
25 - 28

107347 Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 20" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23b, 24b,
25 - 28

107347_ _ _ Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 20" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23b, 24c,
25 - 28

107348 Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23b, 24c,
25 - 28

107348_ _ _ Dynamic 5th Wheel Assembly w/ 3" Lighted
Rollerblade for 22" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23c, 24a,
25 - 28

107349 Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 20" Rear Wheels 1



08-06-2025

Item Number Part Number Description Quantity
9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23c, 24a,
25 - 28

107349_ _ _ Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 20" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23c, 24c,
25 - 28

107350 Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23c, 24c,
25 - 28

107350_ _ _ Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 22" Rear Wheels Anodized 1

9b, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23c, 24c,
25 - 28

107351 Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 24" Rear Wheels 1

9b, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23c, 24c,
25 - 28

107351_ _ _ Dynamic 5th Wheel Assembly w/ 4" Rollerblade
for 24" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23d, 24a,
25 - 28

107352 Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 20" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23d, 24a,
25 - 28

107352_ _ _ Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 20" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23d, 24c,
25 - 28

107353 Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23d, 24c,
25 - 28

107353_ _ _ Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 22" Rear Wheels Anodized 1

9b, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23d, 24c,
25 - 28

107354 Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 24" Rear Wheels 1

9b, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23d, 24c,
25 - 28

107354_ _ _ Dynamic 5th Wheel Assembly w/ 4" Lighted
Rollerblade for 24" Rear Wheels Anodized 1



08-06-2025

Item Number Part Number Description Quantity
9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23e, 24a,
25 - 28

107355 Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
20" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23e, 24a,
25 - 28

107355_ _ _ Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
20" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23e, 24c,
25 - 28

107356 Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23e, 24c,
25 - 28

107356_ _ _ Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
22" Rear Wheels Anodized 1

9b, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23e, 24c,
25 - 28

107357 Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
24" Rear Wheels 1

9b, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23e, 24c,
25 - 28

107357_ _ _ Dynamic 5th Wheel Assembly w/ 4 x 1" Poly for
24" Rear Wheels Anodized 1

9a, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23f, 24c, 25
- 28

107358 Dynamic 5th Wheel Assembly w/ 5 x 1" Poly for
22" Rear Wheels 1

9a, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23f, 24c, 25
- 29

107358_ _ _ Dynamic 5th Wheel Assembly w/ 5 x 1" Poly for
22" Rear Wheels Anodized 1

9b, 10, 11,
12a, 12b, 13 -
16, 17a, 18 -
22, 23f, 24b,
25 - 28

107359 Dynamic 5th Wheel Assembly w/ 5 x 1" Poly for
24" Rear Wheels 1

9b, 10, 11,
12a, 12b, 13 -
16, 17b, 18 -
22, 23f, 24b,
25 - 28

107359_ _ _ Dynamic 5th Wheel Assembly w/ 5 x 1" Poly for
24" Rear Wheels Anodized 1

1 - 8 502464 Dynamic 5th Wheel Clamp Assembly 1

1 001807 5th Wheel Mount 1

2 101123 M6 x 45 Low SHCS BLK ZC 2

3 002050 Mini Indexing Plunger 1



08-06-2025

Item Number Part Number Description Quantity

4 102308 M5 x 8mm FHCS Blk Zc 1

5 001813 Barrel 5th Wheel 1

6 100746 M6 Flat Washer Blk Zn 3

7 100658 M6 Nylock Nut Blk Zn 3

8 102621 M5 x 8 BHCS BLK ZC 1

9a 001808 Bump Stop, 5th Wheel 1

Used with 18" - 22" rear wheels

9b 002362 Bump Stop Long, 5th Wheel 1

Used with 24" rear wheels

10 102631 Stop Bumper 2

11 002041 Flange Bushing For M6 2

12a 002409 5th Wheel Bumper, 40 Durometer, Yellow, Soft
Elastomer 1

12b 002410 5th Wheel Bumper, 60 Durometer, Black, Firm
Elastomer 1

13 001809 Swing Arm Composite, 5th Wheel 1

14 101700 M6 x 8 BTN SHCS BLK ZC 2

15 102634 M6 X 1.0 X 16 BHCS BLK ZC 1

16 001814 Barrel Swing Arm, 5th Wheel 1

17a 001810 Split Clamp 3/4" Black 1

17b 001810_ _ _ Color Anodized Split Clamp 3/4"" 1

18 101844 M6 x 18 SHCS Blk Zn 1

19 001811INST Stem 5th Wheel 1

20 102613 .094 X 75 SPRING PIN ZINC PLATED 1

21 100682 Washer 1/2" .518 x .875 x .047 F/W Black Zinc 1

22 101459 1/2-20 NTE JAM NYL INS L/N BLK ZC 1

23a 100790 Caster 3" Rollerblade 1

23b 101140 Caster 3" Lighted Rollerblade 1

23c 100791 Caster 4" Rollerblade 1

23d 100952 Caster 4" Lighted Rollerblade 1



08-06-2025

Item Number Part Number Description Quantity

23e 100809 Caster 4 x 1.25" Soft Roll 1

23f 100807 Caster 5 x 1.25" Soft Roll 1

24a 004361INST Short Rigid Fork Streamline Assembly, Black
Anodized with Instruction 1

Replaced 001812INST

24b 004354INST Standard Rigid Fork Streamline Assembly, Black
Anodized with Instruction 1

Replaced 000927INST

24c 004362INST Tall Rigid Fork Streamline Assembly, Black
Anodized with Instruction 1

Replaced 000928INST

25 001355 Caster Bearing Cap Black Anodized 1

26 000422 M6 x 56 Threaded Barrel 1

27 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2

28 100792 Caster Spacer D8 x D12 x 10mm / Close Mount
Handrim Spacer 2



08-06-2025

Color Anodizing Samples

Blue

Black

Bright Green

Orange

Pink

Red

Pewter

Purple

Gold


